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4.2 Fourier OO

0000000000000 0000000000000 FouwrierdOOOQonO. OO
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OO00O0o00o00,0b0b000b00o000b0b0obOn FourierDODOOODOOO
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goooooan.
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Step 30final stepd O 00O,

~

f(k) = % /_ h fla)e " qz! (4.10)

0000, (4.9 000000000 f(z) O
_L - ikx
flx) = \/ﬁ/_oof(k)e dk (4.11)

000000, (410) 000 f(z) O Fourier 000000, 0000 f(k) =
F{f(x)} 00DO000O. OO, f(x) O f(k) 00 Fourier 00 (inverse Fourier
transform) 0000, f(z) = F Y{f(k)} 00000.
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Notel O (4.9) 00000 f(z)0 Fourir 000, 000000000000, 00
000 f(z)0OO:

fl@)=F 1 F{f (@)} (4.12)
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Note2 O (4.9)0

f(z) = / da’ f(z') {QL/ eik(x_xl)dk} (4.13)
o T J—c0o
gobooooooa,
/ F@)o(x — 2)da’ = () (4.14)
dddoooodgogd 5(:13—.13/),
5z — ') = % /_ e, (4.15)
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00000000000000000000000000.* (4.14)0 f(z) =1
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oooag
/ d(x)dx =1 (4.16)
O0000. 000 DeltaD0OODOO0DOODOODODOODOO. Delta OO Kroneker
O Delta,
0
Sn = (m #n) (4.17)
1 (m=n)

000 m,n000,000000 (m,n0000000000O000O Kroneker
0 Delta) 000O0O.

Note 3 O (4.10), (4.11)000000 1/(v/27) O Fourier 00, O Fourier 0 00 O
googooooouooooo. gonooooooo,
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F(k) = /_°° fae = ar gw =5 [ T iRtk (4.19)
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F(k) = %Q_W / T H@)et de! f(a) = %27 / T ket dk (4.20)
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Note5 : f(z)0DDDOOO,
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Note 6 : Parseval 0O ODOO,

| s@rar= [ |iw| ax (4.22)
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Note7 : OO Fourier 0000000000000000000000 f(x) O (4.11)
00000000000000000000Fourier 00000 (4.10) 00000
000000000000000
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43.1 Fourter0O0 O QOO

Stepl  f(z) O Fourier 000 f(k) 00O

= /00 f(x)e”**dx (4.23)

_i * ikx

=5 /OO f(k)e™ dk (4.24)
00000000000 f(x) 0000000000 OODOODOO

f(=k)" = f(k) (4.25)
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Step2 (424)000000000000

1 [~ . I PO
= — / f(k)e**dk + — / f(k)e*dk.
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0000000000000 k——-k0000000O0O (425) 0000000
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_WA]%UW }M (4.26)
fkyooooooooooo fi(k), fi(k) 00000 (4.26)

flx) = %/OOO { (k) cos ka — fi(k )smk:.r} dk (4.27)
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000000000000000 A(k), B(k) 00O
= / f(x) cos kxdz, (4.28)

= / h f(x) sin kxdz, (4.29)
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0000000 (4.27) 0
fla) = % /0 LA cos ki + Bk sin ka} d (4.30)
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Note 1: 000000000 FourierO OO
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Note2: 0000 f(#)0 Fowier 00 00000000000000000000
00000 Fourler 010000000000000000O0O0O0OOOO0O (4.28),
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